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SET A (LEVEL 1) for Classes(6-8) 

Q. No. Question in English Question in Hindi Answer 

1 40÷4(2+3)+30÷5÷3  is equal to 

(a) 4 

(b) 20 

(c) 52 

(d) 64 

1. 40÷4(2+3)+30÷5÷3 का भान है 

(a) 4 

(b) 20 

(c) 52 

(d) 64 

(c) 

2     

 
 √   √   

√     √ 
 is 

(a) a natural number 

(b) an integer 

(c) a rational number 

(d) an irrational number 

    

2.  
 √   √   

√     √ 
 है 

(a) एक प्राकृतिक सॊख्मा  

(b) एक ऩूर्ाांक  

(c) एक ऩरयभेम सॊख्मा  

(d) एक अऩरयभेम सॊख्मा  

 

(c) 

3 If m and n are two digits from 0 to 9, minimum values 

of m and n such that the number 52m3n is divisible 

by 12 are respectively 

(a) 0 and 0 

(b) 0 and 2 

(c) 2 and 0 

(d) 2 and 2 

3. मदि m िथा n, 0 से 9 िक िो अॊक हों, िो m िथा n का न्मूनिभ भान 

जिससे सॊख्मा 52m3n 12 से विबाजिि हो िाम क्रभस् होंगे  

(a) 0 िथा 0 

(b) 0 िथा 2 

(c) 2 िथा 0 

(d) 2 िथा 2 

 

(b) 

4 The natural number n is the greatest number such 

that if 1400, 4760, and 7000 are divided by n, the 

remainder is the same. The sum of digits of the 

number is 

(a) 4 

(b) 5 

(c) 6 

(d) 7 

4. n सफसे फड़ी ऐसी प्राकृतिक सॊख्मा है जिससे 1400, 4760, and 7000 को 

बाग िेने ऩय सभान शषे प्राप्ि होिा है, िो सॊख्मा n के अॊकों का मोग है 

(a) 4 

(b) 5 

(c) 6 

(d) 7 

(a) 

5 The present age of the father is five times the age of 

the son. Three years ago, the age of the father was 

cube of the age of the son. Present age of the son is 

(a) 5 years 

(b) 6 years 

(c) 7 years 

5. वऩिा की िितभान उम्र ऩुत्र के उम्र की 5 गुनी हैI िीन िषत ऩहरे वऩिा की 

उम्र ऩुत्र के उम्र के घन के फयाफय थीI ऩुत्र की िितभान उम्र है 

(a) 5 िषत 

(b) 6 िषत 

(b) 



(d) 8 years (c) 7 िषत 

(d) 8 िषत 

6 The ratio between the perimeter and length of a 

rectangle is 5:1. If the area of the rectangle is 

216cm
2
, then the length of the rectangle is 

(a) 12 cm 

(b) 14 cm 

(c) 16 cm 

(d) 18 cm 

6. The ratio between the perimeter and length of a rectangle is 5:1. If the 

area of the rectangle is 216cm
2

, then the length of the rectangle is ककसी 

आमि की ऩरयमभति एिॊ रम्फाई का अनुऩाि 5:1 है. मदि आमि का ऺेत्रपर 

216 सें०भी०
2
 हो, िो उसकी रम्फाई होगी 

(a) 12 सें०भी० 

(b) 14 सें०भी० 

(c) 16 सें०भी० 

(d) 18 सें०भी० 

(a) 

7 A sphere is cut into four similar and equal pieces; 

then the total surface area of all the pieces 

(a) remains unchanged 

(b) becomes twice 

(c) becomes thrice 

(d) becomes four times 

7. मदि एक गोरे को चाय सदृश िथा सभान बागों भें काटा िाम िो कुर 

ऩषृ्ट का ऺेत्रपर   

(a) अऩरयितिति यहेगा 

(b) िगुुना हो िामगा 

(c) तिगुना हो िामगा 

(d) चौगुना हो िामगा 

(b) 

8  If aᶟ+ bᶟ = 16, and a+b =4, then ab is equal to 

(a) 4 

(b) 3 

(c) 2 

(d) 1 

8. मदि aᶟ+ bᶟ = 16, िथा a+b =4 हो, िो ab का भान होगा  

(a) 4 

(b) 3 

(c) 2 

(d) 1 

(a) 

9 In a mixture 60 liters, the ratio of milk and water is 2 : 

1. If this ratio is to be 1 : 2, then the quantity of water 

to be further added is: 

(a) 20 liters 

(b) 30 liters 

(c) 40 liters 

(d) 60 liters 

 

9. 60 रीटय के एक मभश्रर् भें िधू िथा ऩानी का अनुऩाि 2 : 1 हैI मदि मह 

अनुऩाि 1:2  फनाना हो, िो जििना ऩानी औय मभराना होगा उसका 

आमिन होगा  

(a) 20 रीटय 

(b) 30 रीटय 

(c) 40 रीटय 

(d) 60 रीटय 

 

(d) 

10 A student erroneously multiplied a number by 2/5 

instead of 5/2. The percentage error in the calculation 

is 

(a) 24 

(b) 54 

(c) 74 

(d) 84 

10. एक विद्माथी गरिी से ककसी सॊख्मा को 5/2 के फिरे 2/5 से गुर्ा कय 

िेिा हैI िो उसकी गर्ना भें प्रतिशि अशुद्धध होगी 

(a) 24 

(b) 54 

(c) 74 

(d) 84 

(d) 

11  In the triangle ABC, median BD is perpendicular to 

AB. AB=10, BD =8. Then area of triangle is  

11. ककसी त्रत्रबुि ABC भें भजयमका BD बुिा AB ऩय रम्फ हैI AB=10, BD =8, (a) 



(a) 80 

(b) 40 

(c) 60 

(d) 120 

ऺेत्रपर होगा   

(a) 80 

(b) 40 

(c) 60 

(d) 120 

12  ABCD is a cyclic quadrilateral. AB is extended to E 

such that BE=BC. <A =100 º
 
and <D = 70 º. Then 

<DCE is 

(a) 135 º
 
 

(b) 140 º
 
 

(c) 145 º
 
 

(d) 150 º
 
 

12. ABCD एक चक्रीम चिुबुति हैI AB को E िक फढ़ामा गमा जिससे कक BE=BC, 

<A =100 º
 
िथा <D = 70 º I िो <DCE का भान है 

(a) 135 º
 
 

(b) 140 º
 
 

(c) 145 º
 
 

(d) 150 º
 
 

(a) 

13  Two circles of radius 14 cm. touch each other at the 

point P. AB is tangent to both circles touching them 

at A and B. The area bounded by the line AB, arc AP, 

and arc PB is approximately 

(a) 98 sq. cm. 

(b) 84 sq. cm. 

(c) 56 sq. cm. 

(d) 42 sq. cm. 

13.  िो ििृ जिनकी त्रत्रज्मा 14 सें०भी० है एक िसूये को विन्ि ुP ऩय स्ऩशत कयिे हैंI 

AB िोनों ििृों की स्ऩशतयेखा है िो उनको A िथा B ऩय स्ऩशत कयिी हैI येखा AB, 

चाऩ AP, िथा चाऩ PB से तघये ऺेत्र का ऺेत्रपर होगा 

(a) 98 sq. cm. िगत से०भी० 

(b) 84 sq. cm. िगत से०भी० 

(c) 56 sq. cm. िगत से०भी० 

(d) 42 sq. cm. िगत से०भी० 

(b) 

14 The sides of a triangle are integers. If two sides are 6 

and 3, number of such possible triangles is 

(a) 3 

(b) 5 

(c) 7 

(d) 9 

14. ककसी त्रत्रबुि की बुिाओॊ के भान ऩूर्ाांक हैंI मदि िो बुिाओॊ के भान 6 िथा 3 हो 

िो ऐसे त्रत्रबुिों की सॊख्मा होगी  

(a) 3 

(b) 5 

(c) 7 

(d) 9 

(b) 

15 A man bought a horse for a certain amount and sold 

it at a loss of 8%.If he had received Rs. 1800 more, 

he would have gained 14 ½%. The cost price of the 

horse is 

(a) Rs. 3500 

(b) Rs. 5000 

(c) Rs. 6000 

(d) Rs. 8000 

15. एक आिभी ने एक घोड़ा ककसी भूल्म ऩय खयीिा औय 8% घाटे ऩय फेच दिमा I मदि 

उसको 1800 रुऩमे औय मभरिे िो उसे 14 ½% का नपा होिा I घोड़े का क्रम भूल्म 

है 

(a) 3500 रुऩमे 

(b) 5000 रुऩमे 

(c) 6000 रुऩमे 

(d) 8000 रुऩमे 

8000 

16 A sum of Rs. 25000 is divided into two parts and lent 

at simple interest at the rates 5% and 6% 

respectively. If the profit in one year is Rs. 1400, then 

the amount lent at 5% is 

(a) Rs. 10000  

(b) Rs. 12000 

(c) Rs. 15000 

(d) Rs. 20000 

16. 25000 रुऩमे की यकभ को िो बागों भें विबजिि कय क्रभश् 5% िथा 

6% की िय से साधायर् व्माि ऩय रगा दिमा गमा I मदि एक िषत भें 

1400 रुऩमे का नपा हो िो 5% की िय ऩय रगामी गमी यकभ होगी 

(a) 10000 रुऩमे 

(b) 12000 रुऩमे 

(a) 



(c) 15000 रुऩमे 

(d) 20000 रुऩमे 

17 A train passes a circular track of radius 1 km. Its 

angular speed is 2 degree per second. Then the 

speed of the train in km/hr is approximately 

(a) 100 

(b) 125 

(c) 130 

(d) 135 

 

 

 

17. एक टे्रन 1 कक०भी० त्रत्रज्मा के एक ििृाकाय ऩथ से गुियिी है I इसकी कोर्ीम 

गति 2 डडग्री प्रति सेकेन्ड है I िो कक०भी० प्रति घॊटा भें उस टे्रन की गति का 

रगबग भान है 

(a) 100 

(b) 125 

(c) 130 

(d) 135 

  

(b) 

18 If d and r are measures of the same angle in degree 

and radian then the ratio of d and r is   

(a) 90:π 

(b) π:90 

(c) 180:π 

(d) π:180 

18. मदि d िथा r क्रभश् डडग्री िथा येडडमन भें ककसी कोर् के भान हैं िो d िथा r 

का अनुऩाि है 

(a) 90:π 

(b) π:90 

(c) 180:π 

(d) π:180 

(c) 

19 The minimum value of 3sinө+ 4 cosө is 

(a) -3 

(b) -4 

(c) -5 

(d) -12 

19. 3sinө+ 4 cosө का न्मूनिभ भान है 

(a) -3 

(b) -4 

(c) -5 

(d) -12 

(c) 

20 P(A) denotes the probability of an event A. If A and B 

are two mutually exclusive events, then 

(a) P(A-B) = P(A) – P(B) 

(b) P(A) . P(B) = P(A.B) 

(c) PA/B) = P(A) / P(B) 

(d) None of these 

20. P(A) ककसी घटना A की सॊबावििा को तनरूवऩि कयिा हैI मदि A िथा B 

िो ऩयस्ऩय वियोधी घटनाएॉ हों िो 

(a) P(A-B) = P(A) – P(B) 

(b) P(A) . P(B) = P(A.B) 

(c) PA/B) = P(A) / P(B) 

(d) इनभें से कोई नहीॊ 

(d) 

21 Ram and Shyam start a business with investments of 

Rs. 5 lac and 4 lac respectively. After 8 months, Ram 

withdraws Rs. 1  lac and Mohan enters with an 

investment of two lac. The profit at the end of the 

year is Rs. 280000. The share of Mohan is Rs. 

(a) 14000 

(b) 20000 

(c) 24000 

(d) 28000 

21. याभ िथा श्माभ क्रभश् 5 राख एिॊ 4 राख रगाकय एक व्मिसाम प्रायॊब 

कयिे हैं I आठ भहीने के फाि आठ भहीने के फाि याभ एक राख रुऩमे 

तनकार रेिा है िथा भोहन िो राख रुऩमे रगाकय प्रिेश कयिा हैI िषत के 

अॊि भें 280000 रुऩमे का नपा होिा है िो उसभें भोहन का दहस्सा होगा 

रुऩमे 

(a) 14000 

(b) 20000 

(c) 24000 

(d) 28000 

 

(b) 

22 The incomes of A and B are in the ratio 3:4 and their 

expenditures are in the ration 5:7. If each of them 

saves Rs. 200, then their incomes are  

22. A  िथा B की आम का अनुऩाि 3:4 है िथा उनके खचत का अनुऩाि 5:7 

हैI मदि प्रत्मेक 200 रुऩमे की फचि कयिा है िो उनकी आम है 

(b) 



(a) Rs. 900 and Rs. 1200 

(b) Rs. 1200 and Rs. 1600 

(c) Rs. 1500 and Rs. 2000 

(d) Rs. 1800 and Rs. 2400 

(a) 900 रुऩमे िथा 1200 रुऩमे 

(b) 1200 रुऩमे िथा 1600 रुऩमे 

(c) 1500 रुऩमे िथा 2000 रुऩमे 

(d) 1800 रुऩमे िथा 2400 रुऩमे 

23 If the speed of a train in 10 successive hours is a1, 

a2, a3, a4, a5, a6, a7, a8, a9, and a10, then the 

average speed of the train is 

(a) Arithmetic mean of a1, a2, a3, a4, a5, a6, 

a7, a8, a9, and a10 

(b) Geometric mean of a1, a2, a3, a4, a5, a6, 

a7, a8, a9, and a10 

(c) Harmonic mean of a1, a2, a3, a4, a5, a6, 

a7, a8, a9, and a10 

(d) Median of a1, a2, a3, a4, a5, a6, a7, a8, 

a9, and a10 

23. मदि एक टे्रन की गति 10 रगािाय घण्टों भें क्रभश् a1, a2, a3, a4, a5, 

a6, a7, a8, a9, and a10  है िो उसकी औसि गति होगी  

(a) a1, a2, a3, a4, a5, a6, a7, a8, a9, िथा a10 का अॊकगणर्िीम भायम 

(b) a1, a2, a3, a4, a5, a6, a7, a8, a9, िथा a10 का ज्मामभिीम भायम 

(c) a1, a2, a3, a4, a5, a6, a7, a8, a9, िथा a10 का हयात्भक भायम 

(d) a1, a2, a3, a4, a5, a6, a7, a8, a9, िथा a10 की भजयमका 

(c) 

24 Five numbers are such that the arithmetic mean of 

four of them after excluding the maximum of them is 

40, and the arithmetic mean after excluding the 

minimum is 45. The range of the numbers is  

(a) 20 

(b) 25 

(c) 30 

(d) 35   

24. ऩाॉच सॊख्मामें ऐसी हैं कक उनभें से अधधकिभ को हटाकय फाकी चाय 

सॊख्माओॊ का अॊकगणर्िीम भायम 40 है िथा न्मूनिभ को हटाकय फाकी 

चाय सॊख्माओॊ का अॊकगणर्िीम भायम 45 है I िो उन सॊख्माओॊ का 

विस्िाय होगा 

(a) 20 

(b) 25 

(c) 30 

(d) 35   

(a) 

25 If M, Me, and Mo are the mean, median, and mode of 

the numbers a1, a2, ….., a100, and A is any number, 

then   

|a1-A| + |a2-A| +|a3-A| +……+|a100-A| is least when  

(a) A = M 

(b) A = Me 

(c) A = Mo 

(d) none of these 

25. मदि M, Me, िथा Mo सॊख्मा a1, a2, ….., a100 के क्रभश् भायम, 

भजयमका, िथा फहुरक हों िथा A कोई सॊख्मा हो िो  

|a1-A| + |a2-A| +|a3-A| +……+|a100-A| का भान न्मूनिभ होगा िफ   

(a) A = M 

(b) A = Me 

(c) A = Mo 

(d) इनभें से कोई नहीॊ  

(b) 

26 Two cars start simultaneously from A and B towards 

each other, where AB =50 km. They cross each other 

after one hour. The car at A arrives at B 5/6 hours 

earlier than the time the car at B arrives at A. The 

speed of the car at A in km/hour is 

(a) 30 

(b) 25 

(c) 20 

(d) 15 

26. िो भोटयगाडड़माॉ एक साथ A िथा B से एक िसूये की ओय यिाना होिी हैं 

I िे एक घण्टे के फाि एक िसूये को ऩाय कयिी हैं I जििने सभम भें B 

ऩय की गाड़ी A ऩय ऩहुॉचिी है उससे 5/6 घण्टे कभ सभम भें A ऩय की 

गाड़ी B ऩय ऩहुॉचिी है I A ऩय की गाड़ी की गति कक०भी० प्रति घण्टा भें 

है 

(a) 30 

(b) 25 

(c) 20 

(d) 15 

(a) 



27 A can do a work in 20 days. A and B together can do 

the same work in 15 days, and A, B, and C together 

can to it in 10 days. Then the number of day in which 

A and C together can do the work is  

(a) 11 

(b) 12 

(c) 13 

(d) 14 

27. A ककसी काभ को 20 दिनों भें कय सकिा हैI A िथा B िोनों मभरकय 

उस काभ को 15 दिनों भें कय सकिे हैं एिॊ A, B, िथा C िीनों मभरकय 

उस काभ को 10 दिनों भें कय सकिे हैं I जििने दिनों भें A िथा C 

मभरकय उस काभ को कय सकिे हैं उनकी सॊख्मा है 

(a) 11 

(b) 12 

(c) 13 

(d) 14 

(b) 

28 If A and B are two sets such that A∈B, then    

(a) A  B is absurd 

(b) A  B is always false 

(c) A  B is always true 

(d) A  B may be true 

28. मदि A िथा B ऐसे िो सभुच्चम हों कक  A∈B, िो 

(a) A  B तनयथतक है  

(b) A  B हभेशा गरि है 

(c) A  B हभेशा सही है 

(d) A  B सही हो सकिा है 

(d) 

29 Let A = {1, 2, 3, ……., 100}, then the number of 

ordered pairs (a, b) such that a, b ∈ A and a ≤ b is   

(a) 10000 

(b) 5050 

(c) 5040 

(d) 4050 

29. भानमरमा A = {1, 2, 3, ……., 100}, िो ऐसे क्रमभि मुग्भों (a, b) जिसभें a 

≤ b है, की सॊख्मा होगी  

(a) 10000 

(b) 5050 

(c) 5040 

(d) 4050 

(b) 

30  From a point A, the angle of elevation of a cliff is 45 

degree. From a point at a distance 1 km from A 

towards the cliff, the angle of elevation is 60 degree. 

The height of the cliff is 

(a) √3 /(√3-1) km 

(b) (√3-1) /√3 km 

(c) √3 /(√3+1) km 

(d) (√3+1)/ √3 km 

30. विन्ि ुA से ककसी ऩहाड़ी का उन्नमन कोर् 45 डडग्री हैI A से ऩहाड़ी की ओय 1 

कक०भी० ियू एक विन्ि ुसे उस ऩहाड़ी का उन्नमन कोर् 60 डडग्री हैI ऩहाड़ी की 

ऊॉ चाई है 

(a) √3 /(√3-1) कक०भी० 

(b) (√3-1) /√3 कक०भी० 

(c) √3 /(√3+1) कक०भी० 

(d) (√3+1)/ √3 कक०भी० 

(a) 

 


